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In a 45-45-90 Triangle, the
! hypotenuse is {& _times

+ as long as each of the legs.
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Example 1: Find the missing side length(s) in each 45-45-90 triangle.
Rationalize the denominators.
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In a 30-60-90 triangle, the hypotenuse is Sl times the shorter leg
: and the longer leg is V3 _fimes the shorter leg.
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Example 2: Find the missing side length(s) in each 30-60-90 triangle.
Rationalize the denominators.

A. shorterleg 15 B. hypotenuse 10
y D+ Shor+

15 &:1%=230
- x=\80(3
sh‘;(éa—(ge, ' (3.:‘._30
. 10=8: Short
S\;\M* Find Sh@r’rk? R
4«0/ 30 = Shbf‘\' ) A= Sho(-]- =X |
. C. e —_
¥ /. ©  [-50[5
Shov¥ Fé, Y QShor ¥ oy :.39_ @ - ‘ .
, 30’52( 10('?;3 | Vs 3
303 = 30(3
AE \q
Now do Warm-Up Day 19A Not
arm-up vay otes X : ‘ors
L WOAM UR ‘
HW r e} AN do.u\ \S—da«j 2.0

oLl "Pﬂa.ﬂ" ONL not donﬁ



